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FV = PV (1+r
n) = 1,000,000(1+0.03)20 = 1,806,111.24 
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(a)  1(M1) X1 = 80 - 70 

 
= 1,000 

 

   
0.01 

    

 
 2 (M2) X2 = 250 - 70 

 
= 900 

 

   
0.2 

    

 
M1 – à$÷À$×´ 1,000 x 70 = 70,000 

 

 
M2 – à$÷À$×´     900 x 70 

 
= 63,000 

 

   
1,900 x 70 

 
 = 133,000 

 

 
ÑëÙ] ûÚÍ<`× 1,900 x 60 = 

      
(114,000) 

 

 
&ßö$<Ø ûÚÍ<`× 

  
=        (10,000) 

 

 
Ù$þ× 

    
  9,000 

 

        
(b)  1  = 80X1 - 0.01X12 

   

  
  =    80 - 0.02X1 

   

  
           MR = MC; 80 - 0.02X1 = 60 

  

    
X1 = 1,000 

  

    
P1 = 70 

   

 

 2 
   = 250X2 - 0.2X22 

   
MR =  250 - 0.4X2 

  
               MR = MC; 250 - 0.4X2 = 60 

  

    
X2 = 475 

   

    
P2 = 155 

   (c)  M1 – à$÷À$×´ 1,000 x 70 = 70,000 
 

 
M2 – à$÷À$×´ 475 x 155 

 
= 73,625 

 

      
143,625 

 

 
ÑëÙ] ûÚÍ<`× 1,475 x 60 =        (88,500) 

 

 
&ßö$<Ø ûÚÍ<`× 

  
=        (10,000) 

 

 
Ù$þ× 

    
45,125 
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                      -    125  

 
400 525  
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              28,800               43,200   

 
      

 

  

 

 

 

 

 

 

=   236,200- 169,000          
      26,400-18,000 

                                              

                                                                             =   8 ( )       
 

              =   236,200 – (26,400*8)   =     25,000   
   (19,200 )    =  19,200*8 + 25,000          =   178,600   

                                      (28, 800     =  28,800*8 + 25,000          =  255,400  
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